Question 5 (25 marks)

(@) A couple agree to take out a €250000 mortgage in order to purchase a new home.
The loan is to be paid back monthly over 25 years with the repayments due at the end of
each month. The bank charges an annual percentage rate (APR) which is equivalent
to a monthly rate of 0-287%.
Using the amortisation formula, or otherwise, find the couples’ monthly repayment on the
mortgage. Give your answer in euro correct to the nearest cent.
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(b)

Another couple agree to take out a mortgage of €350000, at a rate of 0:3% per month, in
order to purchase a new home. This loan is also to be paid back monthly over 25 years with
the repayments due at the end of each month. The amount of each repayment is €1771.

After exactly 11 years of repayments, the couple receive a financial windfall.
They decide to repay the remaining balance on the mortgage.

Write down a series (including the first two and last two terms) which shows the total of the
present values of all the remaining monthly repayments due over the remaining 14 years of
the mortgage (after the last monthly repayment at the end of year 11).

Hence, find how much the couple will need to repay in order to clear their mortgage entirely.
Give your answer correct to the nearest cent.

Series:

Repayment:
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